=AM

\
sea-water

Flow I/min

Sea water pumps SCAM /1000 rpm
21100000154 Sea-water pump SCAM 1/2" PM 1/2"-SD 16 180,00
15100000093 Sea-water pump SCAM 3/4" PM 3/4" 24 285,00
21100000225 Sea-water pump SCAM 3/4" -SD434 PM 3/4"-SD 24 285,00
15100006527 Sea-water pump SCAM 3/4" -31 PM 3/4" -31 24 285,00
15100000094 Sea-water pump SCAM 3/4" with gear PM 3/4"-2 24 325,00
15100005725 Sea-water pump SCAM 3/4" -48 PM 3/4" -48 35 355,00
15100008454 Sea-water pump SCAM 1" -N PM 1" -N 50 445,00
15100000094 Sea-water pump SCAM 1" PM 1" 50 445,00
15100006708 Sea-water pump SCAM 1 1/2" PM11/2" 82 580,00

Accessories

Flange with pipe conection for SCAM 1" 20,00

25900000522 Gear PM 3/4", Z=25 for PERKINS M33 for SCAM 3/4" 35,00
25900000 Gear PM 3/4", Z=__ for PERKINS S44 for SCAM 3/4" 35,00
Adapter PM 3/4" for PERKINS M33 35,00

Adapter PM 3/4" for PERKINS S44 30,00

Set for reparation (shaft, bearings, gasket, seals, circlip)

74200007305 Set for reparation of sea-water pump SCAM PM 1/2" set PM 1/2" 80,00
74200007306 Set for reparation of sea-water pump SCAM PM 3/4"-31| set PM 3/4"-31 100,00
Set for reparation of sea-water pump SCAM PM 3/4"-48| set PM 3/4"-48 110,00
Set for reparation of sea-water pump SCAM PM 1" set PM 1" 130,00

Set for reparation of sea-water pump SCAM PM 1 1/2" | setPM 1 1/2" 140,00




7 S L AlvI

marine

sevboatmotors@gmail.com
www.sevboatmotors.com
0506863451 0502216631

Dealer:

Parts of sea-water pumps SCAM

63200003383 Seal 12x24x7 (for PM 3/8" - ail) 12x24x7 5,00
63200007173 Seal 12x24x7 INOX (for PM 3/8" - sea-water) 0BC 012.024.07-53 . 32,00

0

P
62200003311 Circlip (hole) 28 DIN 472 INOX (for PM 1/2") 28 DIN 4721 <§( 2,00
62100003279 Bearings 6001 2RS (for PM 1/2") 6001 ZZ (2RS) % 6,00
25200000517 Shaft sea-water pump SCAM PM 1/2" 2 35,00
74100003829 Impeller JOHNSON 09-810B 1816026 30,00
63200003380 Seal 16x28x7 (for PM 3/4" - oil) - 6,00
63200006789 Seal 16x28x7 INOX (for PM 3/4" - sea-water) OBC 016.028.07-53 % 35,00

2
62200003300 Circlip (hole) 40 DIN 472 INOX (for PM 3/4") 40 DIN 4721 L 3,00
62100003263 Bearings 6203 2RS (for PM 3/4") 6203 ZZ (2RS) 2 7,50
25200000518 Shaft sea-water pump SCAM PM 3/4" for 3/4"-31 55,00
25200000 Shaft sea-water pump SCAM PM 3/4"-48 for 3/4"-48 60,00
74100003834 Impeller JOHNSON 09-1027B 1816032 for 3/4"-31 45,00
74100005425 Impeller JOHNSON 09-812B 1816043 for 3/4"-48 55,00
63200003379 Seal 20x36x7 (for PM 1" - oil) 8,00
63200003387 Shaft seal 16x38x22 (for PM 1" - sea-water) 632 33 87 55,00

—

=
62200003299 Circlip (hole) 47 DIN 472 INOX (for PM 1") 47 DIN 4721 6 3,50
62100003262 Bearings 6204 2RS (for PM 1") 6204 ZZ (2RS) :’5: 8,50
25200000519 Shaft sea-water pump SCAM PM 1" 70,00
74100003830 Impeller JOHNSON 09-1028B 1816031 62,00
63200003379 Seal 20x36x7 (for PM 1 1/2" - oil) 8,00
63200003387 Shaft seal 16x38x22 (for PM 1 1/2" - sea-water) 6323387 2, 55,00

2
62200003299 Circlip (hole) 47 DIN 472 INOX (for PM 1 1/2") 47 DIN 4721 <§( 3,50
62100003262 Bearings 6204 2RS (for PM 1 1/2") 6204 ZZ (2RS) “u:a 8,50
25200007507 Shaft sea-water pump SCAM PM 1 1/2" & 80,00
74100003837 Impeller JABSCO 17018-01 1815040 100,00




